

FUZZY CONVEX SUBALGEBRAS OF COMMUTATIVE RESIDUATED LATTICES

S. GHORBANI AND A. HASANKHANI

ABSTRACT. In this paper, we define the notions of fuzzy congruence relations and fuzzy convex subalgebras on a commutative residuated lattice and we obtain some related results. In particular, we will show that there exists a one to one correspondence between the set of all fuzzy congruence relations and the set of all fuzzy convex subalgebras on a commutative residuated lattice. Then we study fuzzy convex subalgebras of an integral commutative residuated lattice and will prove that fuzzy filters and fuzzy convex subalgebras of an integral commutative residuated lattice coincide.

1. Introduction

The concept of fuzzy sets was firstly introduced by Zadeh in 1965 ([15]). The theory of fuzzy sets has been developed in a wide variety of fields such as fuzzy mathematics. One of the important branch of fuzzy mathematics is fuzzy algebras. Many researchers have studied some algebraic structure such as fuzzy group, fuzzy ring, fuzzy modules, Also, the concept of fuzzy sets was applied to BCI, BCK, MV, BL-algebras. The concept of a commutative residuated lattice was firstly introduced by M. Ward and R. P. Dilworth as generalization of ideal lattices of rings (See [4], [13] and [14]). A commutative residuated lattice is an ordered algebraic structure $L = (L, \wedge, \vee, *, :, e)$ such that (L, \wedge, \vee) is a lattice, $(L, *, e)$ is a commutative monoid and for all $x, y, z \in L$

$$x * y \leq z \iff x \leq z : y \iff y \leq z : x.$$

The class of commutative residuated lattices is denoted by CRL . It was shown that CRL is an ideal variety in the sense that its congruence correspond to convex subalgebra. An integral commutative residuated lattice is an algebraic structure $L = (L, \wedge, \vee, :, *, e)$ such that $L = (L, \wedge, \vee, :, *, e)$ is a commutative residuated lattice and e is the greatest element of this algebra. In this case, we define $1 := e$ ([1]). We denote the class of integral commutative residuated lattice by $ICRL$ which is a subclass of CRL . As an example, every BL-algebra is a member of the class $ICRL$. In fact, we consider a BL-algebra as a member of the subvariety of $ICRL$ such that 0 is the least element of this algebra and it satisfies the additional

Received: April 2008; Revised: August 2008 and November 2008; Accepted: July 2009

Key words and phrases: (Integral) Commutative residuated lattice, Fuzzy convex subalgebra, Fuzzy congruence relation, Fuzzy filter.

This work was supported by Fuzzy Sets and Its Application Center of Excellence, Shahid Bahonar University of Kerman, Iran.

identities $x * (y : x) = x \wedge y$ and $(y : x) \vee (x : y) = 1$. In the next section, some preliminary definitions and theorems are stated. In section 3, first of all we define the notion of fuzzy congruence relations on a commutative residuated lattice, state and prove some related results. Then, using the concept of fuzzy sets to a commutative residuated lattice, we introduce the notion of fuzzy convex subalgebras of a commutative residuated lattice to investigate their properties. In particular, we will prove that there exists a bijection between the set of all fuzzy convex subalgebras and the set of all fuzzy congruence relations on a commutative residuated lattice. Then we will introduce the notion of fuzzy quotient algebras in a commutative residuated lattice and will prove that the fuzzy quotient algebras induced by fuzzy convex subalgebras are commutative residuated lattices.

Fuzzy filter on a BL-algebra was introduced and studied by L. Z. Liu and K. T. Li in ([10]). Finally, in section 4, using this definition for fuzzy filters of an integral commutative residuated lattice, we will show that each fuzzy filter of an integral commutative residuated lattice is a convex fuzzy subalgebra and vice versa, i.e., every convex fuzzy subalgebra of an integral commutative residuated lattice is a fuzzy filter.

2. Preliminaries

Here we review some definitions and results which are needed in the other sections.

Definition 2.1. A commutative binary operation $*$: $P \times P \rightarrow P$ on a poset (P, \leq) is said to be residuated iff there exists a binary operation $:$: $P \times P \rightarrow P$ such that

$$x * y \leq z \iff x \leq z : y$$

for all $x, y, z \in P$. Then $:$ is called a residual of the $*$ and (P, \leq) is called a *residuated poset* under the operation $*$.

Theorem 2.2. [5] *Let (P, \leq) be a poset. Then $*$: $P \times P \rightarrow P$ is residuated if and only if it is order preserving in each component and $\max\{p \in P : x * p \leq y\}$ exists for all $x, y \in P$. In this case, $y : x = \max\{p \in P : x * p \leq y\}$ for all $x, y \in P$.*

Definition 2.3. [5] A *commutative residuated lattice* is an ordered algebraic structure $L = (L, \wedge, \vee, :, *, e)$ such that (L, \wedge, \vee) is a lattice, $(L, *, e)$ is a commutative monoid and the operation $:$ serves as the residual for the monoid multiplication under the lattice ordering.

Theorem 2.4. [2] *Let $(L, \wedge, \vee, *, :, e)$ be a commutative residuated lattice. Then we have the following properties:*

- (1) $x : e = x, e \leq x : x,$
- (2) $x * (y : x) \leq y,$
- (3) $y : x \leq (y * z) : (x * z),$
- (4) *if $x \leq y$, then $x * z \leq y * z,$*
- (5) $(z : y) : x = z : (x * y),$
- (6) $(e : x) * (e : y) \leq e : (x * y),$
- (7) $x * (y \vee z) = (x * y) \vee (x * z),$

- (8) $x * (y \wedge z) \leq (x * y) \wedge (x * z)$,
 - (9) $y : x \leq (y : z) : (x : z)$,
 - (10) $y : x \leq (z : x) : (z : y)$,
 - (11) $y \leq (x * y) : x$,
- for all $x, y, z \in L$.

Definition 2.5. [5] Let $(L, \wedge, \vee, *, :, e)$ be a commutative residuated lattice and $X \subseteq L$. Then we denote the upper set generated by X in L with $\uparrow X$, that is $\uparrow X = \{y \in L : \exists x \in X \ni x \leq y\}$. If $X = \{x\}$ is a singleton, we will use the symbol $\uparrow x$ in place of $\uparrow \{x\}$. The lower set $\downarrow X$ generated by X in L is defined dually.

Definition 2.6. A non-empty subset S of a commutative residuated lattice which is a commutative residuated lattice with respect to the operations of residuated lattice is called a *subalgebra* of the commutative residuated lattice.

Definition 2.7. [5] Let S be a subalgebra of a commutative residuated lattice L . S is called a *convex subalgebra* of L if $a, b \in S$, then $\uparrow a \cap \downarrow b \subseteq S$.

Theorem 2.8. [9, 12] Let $(L, \wedge, \vee, *, :, 1)$ be an integral commutative residuated lattice. Then we have the following properties:

- (1) $x : 1 = x, x : x = 1, 1 : x = 1$,
 - (2) $x * y \leq x \wedge y$,
 - (3) $x \leq y$ if and only if $y : x = 1$,
 - (4) $y \leq y : x$,
 - (5) $x * (y : x) \leq x, y$ and hence $x * (y : x) \leq x \wedge y$,
 - (6) $(z : y) : x = (z : x) : y$,
- for all $x, y, z \in L$.

Definition 2.9. [9, 12] A non-empty subset F of an integral commutative residuated lattice $(L, \wedge, \vee, *, :, 1)$ is called *filter* if

- (F1) $1 \in F$,
 - (F2) if $x \in F$ and $y : x \in F$, then $y \in F$,
- for all $x, y \in L$.

Theorem 2.10. [9, 12] A non-empty subset F of an integral commutative residuated lattice $(L, \wedge, \vee, *, :, 1)$ is a filter of L iff

- (F1') if $x, y \in F$, then $x * y \in F$,
- (F2') if $x \in F, y \in L$ and $x \leq y$, then $y \in F$.

Filters of a commutative residuated lattice are also called congruence filters or deductive systems in literature.

Definition 2.11. [15] A *fuzzy set* of a non-empty set X is a mapping $\mu : X \rightarrow [0, 1]$.

Definition 2.12. [3] Let μ be a *fuzzy set* of a non-empty set X . For each $t \in [0, 1]$, the set $\mu_t = \{x \in X : \mu(x) \geq t\}$ is called *t-level subset* of μ .

Definition 2.13. let $\{\mu_i\}_{i \in I}$ be a family of fuzzy sets of a non-empty set X . Then the fuzzy sets $\bigcup_{i \in I} \mu_i$ and $\bigcap_{i \in I} \mu_i$ are defined by

$$\bigcup_{i \in I} \mu_i(x) = \sup_{i \in I} \mu_i(x) \quad \text{and} \quad \bigcap_{i \in I} \mu_i(x) = \inf_{i \in I} \mu_i(x),$$

for all $x \in X$.

Definition 2.14. [11] A fuzzy equivalence relation R on a non-empty set X is a fuzzy subset of $X \times X$ satisfying the following conditions:

(R1) $R(x, x) = \text{Sup}\{R(y, z) : y, z \in X\}$ (reflexive),

(R2) $R(x, y) = R(y, x)$ (symmetric),

(R3) $R(x, z) \geq \min\{R(x, y), R(y, z)\}$ (transitive),

for all $x, y, z \in X$.

3. Fuzzy Convex Subalgebras of CRL

Throughout this section, L will denote a commutative residuated lattice.

Lemma 3.1. If R is a fuzzy equivalence relation on L , then

(1) $R(e, e) = R(x, x)$, for all $x \in L$,

(2) $R(e, e) \geq R(x, y)$, for all $x, y \in L$.

Proof. (1) It will be followed by Definition 2.14 part (R1).

(2) Let $x, y \in L$. Then $R(e, e) = R(x, x) = \sup\{R(y, z) : \text{for all } y, z \in L\} \geq R(x, y)$. □

Definition 3.2. A fuzzy equivalence relation θ on L is called a fuzzy congruence relation on L if

(C1) $\theta(y : x, w : z) \geq \min\{\theta(x, z), \theta(y, w)\}$,

(C2) $\theta(x * y, z * w) \geq \min\{\theta(x, z), \theta(y, w)\}$,

(C3) $\theta(x \wedge y, z \wedge w) \geq \min\{\theta(x, z), \theta(y, w)\}$,

(C4) $\theta(x \vee y, z \vee w) \geq \min\{\theta(x, z), \theta(y, w)\}$,

for all $x, y, z, w \in L$.

Example 3.3. Let $L = \{0, a, b, e, 1\}$ with $0 < a < b < e < 1$. We define

*	0	a	b	e	1
0	0	0	0	0	0
a	0	a	a	a	a
b	0	a	b	b	1
e	0	a	b	e	1
1	0	a	1	1	1

:	0	a	b	e	1
0	1	1	1	1	1
a	0	1	1	1	1
b	0	a	e	e	1
e	0	a	b	e	1
1	0	a	a	a	1

and so L become a commutative residuated lattice. Define

$\theta(0, a) = \theta(0, 1) = \theta(0, b) = \theta(0, e) = x$,

$\theta(1, a) = \theta(a, b) = \theta(e, 1) = \theta(a, e) = \theta(b, 1) = y$,

$\theta(b, e) = z$,

such that $0 \leq x \leq y \leq z \leq \theta(e, e) \leq 1$. Then θ is a fuzzy congruence relation on L .

Theorem 3.4. *Let θ be a fuzzy equivalence relation on L . Then θ is a fuzzy congruence relation on L iff*

- (C1)' $\theta(z : x, z : y) \geq \theta(x, y)$,
 - (C1)'' $\theta(x : z, y : z) \geq \theta(x, y)$,
 - (C2)' $\theta(x * z, y * z) \geq \theta(x, y)$,
 - (C3)' $\theta(x \wedge z, y \wedge z) \geq \theta(x, y)$,
 - (C4)' $\theta(x \vee z, y \vee z) \geq \theta(x, y)$,
- for all $x, y, z \in L$.

Proof. Let θ be a fuzzy congruence relation on L and let $x, y, z \in L$. Then

$$\theta(z : x, z : y) \geq \min\{\theta(x, y), \theta(z, z)\} = \theta(x, y)$$

by Lemma 3.1 and (C1). Similarly, we can show that the other conditions of Definition 3.2 hold.

Conversely, let θ be a fuzzy equivalence relation on L which satisfies conditions (C1)' - (C4)' and let $x, y, z, w \in L$. Then

$$\begin{aligned} \theta(y : x, w : z) &\geq \min\{\theta(y : x, y : z), \theta(y : z, w : z)\} \\ &= \min\{\theta(x, z), \theta(y, w)\} \end{aligned}$$

by (R3), (C1)' and (C1)''. Similarly, one can show that the other conditions hold. Hence θ is a fuzzy congruence relation on L . □

Theorem 3.5. *Let θ be a fuzzy relation on L . θ is a fuzzy congruence relation on L iff for all $t \in [0, 1]$, θ_t is either empty or a congruence relation on L .*

Proof. The proof is routine. □

Notation: The set of all fuzzy congruence relations on L is denoted by $FCon(L)$.

Definition 3.6. A fuzzy subset S of L is called a *fuzzy subalgebra* of L iff

- (1) $S(e) \geq S(x)$,
 - (2) $S(y : x) \geq \min\{S(x), S(y)\}$,
 - (3) $S(x * y) \geq \min\{S(x), S(y)\}$,
 - (4) $S(x \wedge y) \geq \min\{S(x), S(y)\}$,
 - (5) $S(x \vee y) \geq \min\{S(x), S(y)\}$,
- for all $x, y \in L$.

Example 3.7. Consider the commutative residuated lattice which is defined in Example 3.3 and define

$$0 < S(0) < S(b) < S(a) = S(1) < S(e) < 1.$$

Then S is a fuzzy subalgebra of L .

Definition 3.8. A fuzzy subalgebra S of L is said to be a *fuzzy convex subalgebra* of L if for $a \in S_\alpha$, $b \in S_\beta$ and $a \leq c \leq b$, there exists a γ between α and β such that $c \in S_\gamma$.

Example 3.9. [6] Let $L = \{0, a, b, e, 1\}$ with $0 < a, b < e < 1$ and elements a, b are incomparable. We define

*	0	a	b	e	1
0	0	0	0	0	0
a	0	a	0	a	a
b	0	0	b	b	b
e	0	a	b	e	1
1	0	a	b	1	1

:	0	a	b	e	1
0	1	1	1	1	1
a	b	1	b	1	1
b	a	a	1	1	1
e	0	a	b	e	1
1	0	a	b	1	1

and so L is a commutative residuated lattice. Define fuzzy set S_1 of L by $S_1(0) = S_1(a) = x$, $S_1(b) = y$ and $S_1(1) = z$, where $0 \leq x \leq y \leq z \leq S_1(e) \leq 1$. Also, define fuzzy set S_2 of L by $S_2(0) = S_2(b) = t$, $S_2(a) = s$ and $S_2(1) = w$, where $0 \leq t \leq s \leq w \leq S_2(e) \leq 1$. It is easy to show that S_1 and S_2 are fuzzy convex subalgebras of L .

Remark 3.10. We notice that each fuzzy subalgebra of L may not be a fuzzy convex subalgebra of L . Consider the fuzzy subalgebra S of L in Example 3.7 which is not a fuzzy convex subalgebra of L .

Theorem 3.11. *Let S be a fuzzy subset of L . S is a fuzzy (convex) subalgebra of L iff for all $t \in [0, 1]$, S_t is either empty or a (convex) subalgebra of L .*

Proof. It is easy to show that S is a fuzzy subalgebra of L iff for all $t \in [0, 1]$, S_t is either empty or a fuzzy subalgebra of L .

Suppose that S is a fuzzy convex subalgebra of L and for $t \in [0, 1]$, S_t is not empty. Let $a, b \in S_t$ and $a \leq c \leq b$. Then there exists $t \leq \gamma \leq t$ such that $c \in S_\gamma$, i.e., $c \in S_t$.

Conversely, suppose that for all $t \in [0, 1]$, S_t is either empty or a convex subalgebra of L . It is easy to show that S is a fuzzy subalgebra of L . Let $a \in S_\alpha$, $b \in S_\beta$, $a \leq c \leq b$. Without loss of generality, assume that $\alpha \leq \beta$. Then $b \in S_\beta \subseteq S_\alpha$. Since S_α is a convex subalgebra of L , $c \in S_\alpha$, i.e., $S(c) \geq \alpha$. Consider the following cases:

Case 1: $S(c) \leq \beta$. Put $\gamma = S(c)$.

Case 2: $S(c) > \beta$. Put $\gamma = \beta$. Therefore $S(c) > \gamma = \beta$ and $\alpha \leq \gamma \leq \beta$.

Hence $c \in S_\gamma$ where $\alpha \leq \gamma \leq \beta$. □

Corollary 3.12. *Let S be a non-empty subset of L . S is a convex subalgebra of L iff χ_S is a fuzzy convex subalgebra of L , where χ_S is the characteristic function of S .*

Theorem 3.13. *Let $\{S_\alpha\}_{\alpha \in I}$ be an arbitrary family of fuzzy convex subalgebras of L . Then $\bigcap_{\alpha \in \Gamma} S_\alpha$ is a fuzzy convex subalgebra of L .*

Proof. The proof is routine. □

Remark 3.14. Let $\{S_\alpha\}_{\alpha \in I}$ be an arbitrary family of fuzzy convex subalgebras of L . Then $\bigcup_{\alpha \in \Gamma} S_\alpha$ may not be a fuzzy convex subalgebra of L . See the following example:

Example 3.15. Consider the fuzzy convex subalgebras S_1 and S_2 in Example 3.9 and suppose that $0 < x < t < s < y < w < z < 1$. Then we get

$$(S_1 \cup S_2)(0) = t, (S_1 \cup S_2)(a) = s, (S_1 \cup S_2)(b) = y \text{ and } (S_1 \cup S_2)(1) = z.$$

We have $(S_1 \cup S_2)(a * b) = (S_1 \cup S_2)(0) = t$, $\min\{(S_1 \cup S_2)(a), (S_1 \cup S_2)(b)\} = y$ and $t < y$. Hence $S_1 \cup S_2$ is not a fuzzy convex subalgebra of L .

Notation: The set of all fuzzy convex subalgebras of L is denoted by $FSub_c(L)$.

Clearly $FSub_c(L)$ is a lattice, because if $S_1, S_2 \in FSub_c(L)$, then $S_1 \vee S_2$ (i.e, the intersection of all fuzzy convex subalgebras containing $S_1 \cup S_2$) is the least upper bound of S_1 and S_2 . Also $S_1 \cap S_2 \in FSub_c(L)$ is the greatest lower bound of S_1 and S_2 . Since we can replace the set $\{S_1, S_2\}$ by an arbitrary family of fuzzy convex subalgebras, the lattice $(FSub_c(L), \vee, \cap)$ is a complete lattice.

Lemma 3.16. *Let S be a fuzzy convex subalgebra of L . Then*

$$\min\{S(x \wedge e), S((y \wedge e) : (x \wedge e))\} \leq S(y \wedge e),$$

for all $x, y \in L$.

Proof. Let $S(x \wedge e) = \alpha$ and $S((y \wedge e) : (x \wedge e)) = \beta$. Since

$$(x \wedge e) * ((y \wedge e) : (x \wedge e)) \leq y \wedge e \leq (y \wedge e) : (x \wedge e)$$

and S is a fuzzy subalgebra of L , we have

$$\min(\alpha, \beta) = \min\{S(x \wedge e), S((y \wedge e) : (x \wedge e))\} \leq S((x \wedge e) * [(y \wedge e) : (x \wedge e)]).$$

Hence $(x \wedge e) * ((y \wedge e) : (x \wedge e)) \in S_{\min(\alpha, \beta)}$. Since S is a fuzzy convex subalgebra of L , there exists γ between $\min(\alpha, \beta)$ and β such that $y \wedge e \in S_\gamma$, i.e., $S(y \wedge e) \geq \gamma \geq \min(\alpha, \beta) = \min\{S(x \wedge e), S((y \wedge e) : (x \wedge e))\}$. \square

Theorem 3.17. *Let S be a fuzzy convex subalgebra of L . For any $x, y, z \in L$, the following properties hold:*

- (1) if $x \leq y$, then $S(x \wedge e) \leq S(y \wedge e)$,
- (2) if $S((y \wedge e) : (x \wedge e)) = S(e)$, then $S(x \wedge e) \leq S(y \wedge e)$,
- (3) $S((y : x) \wedge e) \leq S([(y * z) : (x * z)] \wedge e)$,
- (5) $S((y : x) \wedge e) \leq S([(z : x) : (z : y)] \wedge e)$,
- (6) $S((y : x) \wedge e) \leq S([(y : z) : (x : z)] \wedge e)$,
- (7) $S((y : x) \wedge e) \leq S([(y \wedge z) : (x \wedge z)] \wedge e)$,
- (8) $S((y : x) \wedge e) \leq S([(y \vee z) : (x \vee z)] \wedge e)$,
- (9) $S((y : x) \wedge e) \leq S([y : (x \vee y)] \wedge e)$.

Proof. (1) Since $x \leq y$, we have $x \wedge e \leq y \wedge e \leq e$. But S is a fuzzy convex subalgebra of L , hence there exists γ between $S(x \wedge e)$ and $S(e)$ such that $y \wedge e \in S_\gamma$, i.e., $S(x \wedge e) \leq S(y \wedge e)$.

(2) It is clear by Lemma 3.14.

(3) By Theorem 2.4 part (8) and (10)

$$\begin{aligned} ((y : x) \wedge e) * ((z : y) \wedge e) &\leq [((y : x) \wedge e) * (z : y)] \wedge [((y : x) \wedge e) * e] \\ &\leq [(y : x) * (z : y)] \wedge (z : y) \wedge e \\ &\leq (z : x) \wedge e. \end{aligned}$$

Hence by part (1) and Definition 3.6 part (3), we get that

$$\min\{S((y : x) \wedge e), S((z : y) \wedge e)\} \leq S(((y : x) \wedge e) * ((z : y) \wedge e)) \\ \leq S((z : x) \wedge e).$$

(4) Since $(y : x) \wedge e \leq [(y * z) : (x * z)] \wedge e$ by Theorem 2.4 part (3), we have

$$S((y : x) \wedge e) \leq S([(y * z) : (x * z)] \wedge e),$$

by part (1).

(5) We have $((y : x) \wedge e) * (z : y) \leq ((y : x) * (z : y)) \wedge (z : y) \leq (z : x)$. So $(y : x) \wedge e \leq ((z : x) : (z : y)) \wedge e$. Hence

$$S((y : x) \wedge e) \leq S([(z : x) : (z : y)] \wedge e),$$

by part(1).

(6) The proof is similar to the part(5).

(7) Since $(y \wedge z) * ((x : y) \wedge e) \leq [y * ((x : y) \wedge e)] \wedge [z * ((x : y) \wedge e)] \leq x \wedge z$, then $((x : y) \wedge e) \leq (x \wedge z) : (y \wedge z)$. So we have $((x : y) \wedge e) \leq ((x \wedge z) : (y \wedge z)) \wedge e$. By part(1), we conclude that $S((y : x) \wedge e) \leq S([(y \wedge z) : x \wedge z] \wedge e)$.

(8) We have $(y \vee z) * ((x : y) \wedge e) = [y * ((x : y) \wedge e)] \vee [z * ((x : y) \wedge e)] \leq x \vee z$ by Theorem 2.4 part (7). Then $((x : y) \wedge e) \leq ((x \vee z) : (y \vee z)) \wedge e$. Hence $S((y : x) \wedge e) \leq S([(y \vee z) : (x \vee z)] \wedge e)$, by part(1).

(9) Use Theorem 2.4 part(2) and (4), then $x * ((y : x) \wedge e) \leq x * (y : x) \leq y$ and $y * ((y : x) \wedge e) \leq y * e \leq y$.

Hence

$$x \leq y : ((x : y) \wedge e) \quad \text{and} \quad y \leq y : ((x : y) \wedge e).$$

Therefore $y \vee x \leq y : ((y : x) \wedge e)$. So $(y : x) \wedge e \leq y : (y \vee x)$. Hence

$$S((y : x) \wedge e) \leq S([y : (x \vee y)] \wedge e).$$

by part (1). □

Definition 3.18. Let S be a fuzzy convex subalgebra of L . Fuzzy relation θ_S on L which is defined by

$$\theta_S(x, y) = \min\{S((y : x) \wedge e), S((x : y) \wedge e)\}$$

is called the *fuzzy relation induced* by S .

Theorem 3.19. Let S be a fuzzy convex subalgebra of L . Then θ_S is a fuzzy congruence relation on L .

Proof. The proof follows from Theorem 3.17. □

Theorem 3.20. Let S be a fuzzy convex subalgebra of L and θ_S be a fuzzy congruence relation induced by S and $t \in \text{Im}\theta$. Then $(\theta_S)_t$ is the congruence on L induced by S_t , i.e., $(\theta_S)_t = \theta_{S_t}$, where

$$\theta_{S_t} = \{(x, y) : (y : x) \wedge e \in S_t, (x : y) \wedge e \in S_t\}.$$

Proof. Let $(x, y) \in (\theta_S)_t$. Therefore $\theta_S(x, y) \geq t$. So we have

$$\min\{S((x : y) \wedge e), S((y : x) \wedge e)\} \geq t.$$

Thus $(x : y) \wedge e \in S_t$ and $(y : x) \wedge e \in S_t$. Hence $(x, y) \in \theta_{S_t}$. Thus $(\theta_S)_t \subseteq \theta_{S_t}$. By reversing the above arguments we get, $\theta_{S_t} \subseteq (\theta_S)_t$. Hence $(\theta_S)_t = \theta_{S_t}$. \square

Definition 3.21. Let θ be a fuzzy congruence relation on L . Then the fuzzy subset S_θ which is defined by

$$S_\theta(x) = \theta(x, e)$$

is called the *fuzzy subset induced by θ* .

Theorem 3.22. Let θ be a fuzzy congruence relation on L . Then S_θ is a fuzzy convex subalgebra of L .

Proof. For all $x, y \in L$

$$\begin{aligned} S_\theta(y : x) &= \theta(e, y : x) = \theta(e : e, y : x) \\ &\geq \min\{\theta(e, x), \theta(e, y)\} = \min\{S_\theta(x), S_\theta(y)\}. \end{aligned}$$

The proof of the other conditions of Definition 3.6 is similar. Hence S_θ is a fuzzy subalgebra of L .

Let $a \in_\alpha S_\theta$, $b \in_\beta S_\theta$ and $a \leq c \leq b$. Then $S_\theta(a) = \theta(e, a) \geq \alpha$ and $S_\theta(b) = \theta(e, b) \geq \beta$.

If $\beta \geq \alpha$, then

$$\begin{aligned} \theta(a, c) &= \theta(a \wedge b \wedge c, b \wedge c) \geq \min\{\theta(a \wedge b, b), \theta(c, c)\} \\ &\geq \min\{\theta(a, b), \theta(b, b)\} \\ &\geq \min\{\theta(a, e), \theta(e, b)\} = \min\{\alpha, \beta\}. \end{aligned}$$

Hence

$$\theta(e, c) \geq \min\{\theta(e, a), \theta(a, c)\} \geq \alpha.$$

If $\alpha \geq \beta$, then

$$\begin{aligned} \theta(b, c) &= \theta(a \vee b \vee c, a \vee c) \geq \min\{\theta(a \vee b, a), \theta(c, c)\} \\ &\geq \min\{\theta(b, a), \theta(a, a)\} \\ &\geq \min\{\theta(a, e), \theta(e, b)\} = \min\{\alpha, \beta\}. \end{aligned}$$

Hence

$$\theta(e, c) \geq \min\{\theta(e, b), \theta(b, c)\} \geq \beta.$$

Therefore $S_\theta(c) = \theta(e, c) \geq \min\{\alpha, \beta\} = \gamma$, where γ is between α and β . Thus S_θ is a fuzzy convex subalgebra of L . \square

Theorem 3.23. Let θ be a fuzzy congruence relation on L and let S_θ be a fuzzy convex subalgebra induced by θ . Let $t \in \text{Im}\theta$. Then $(S_\theta)_t$ is the convex subalgebra induced by θ_t , i.e., $(S_\theta)_t = S_{\theta_t}$ where $S_{\theta_t} = \{a \in L : (a, e) \in \theta_t\}$.

Proof. Let $a \in (S_\theta)_t$. Then $S_\theta(a) \geq t$ and we have $\theta(e, a) \geq t$. Hence $a \in S_{\theta_t}$ and $(S_\theta)_t \subseteq S_{\theta_t}$. By reversing the above arguments, we get $S_{\theta_t} \subseteq (S_\theta)_t$. \square

Theorem 3.24. Let S be a fuzzy convex subalgebra of L . Then $S_{\theta_S} = S$.

Proof. Let $x \in L$. Since S is a fuzzy subalgebra, we have

$$\begin{aligned} S_{\theta_S}(x) &= \theta_S(e, x) = \min\{S((x : e) \wedge e), S((e : x) \wedge e)\} \\ &= \min\{S(e \wedge x), S((e : x) \wedge e)\} \geq S(x) \end{aligned}$$

by Definition 3.6.

Conversely, we will show that

$$S(x) \geq \min\{S((e : x) \wedge e), S(x \wedge e)\}.$$

Suppose that $x \in L$. Put $h = (e : x) \wedge (x \wedge e)$. Clearly $h \leq x \leq e : h$. Let $S(h) = \alpha$ and $S(e : h) = \beta$. Then $\alpha, \beta \geq \min\{S(x \wedge e), S((e : x) \wedge e)\}$. Since S is a fuzzy convex subalgebra of L , there exists a γ between α and β such that $S(x) \geq \gamma \geq \min\{\alpha, \beta\} \geq \min\{S(x \wedge e), S((e : x) \wedge e)\}$. Hence $S(x) \geq S_{\theta_S}(x)$. \square

Lemma 3.25. *Let θ be a fuzzy congruence relation on L . Then*

$$\theta(x \vee y, y) \geq S_{\theta}((y : x) \wedge e),$$

for all $x, y \in L$.

Proof. We have

$$\begin{aligned} \theta(x \vee y, y) &= \theta(x \vee y, y \vee (x * ((y : x) \wedge e))) \\ &\geq \min\{\theta(y, y), \theta(x, x * ((y : x) \wedge e))\} \\ &\geq \min\{\theta(x, x), \theta(e, (y : x) \wedge e)\} \\ &\geq S_{\theta}((y : x) \wedge e). \end{aligned}$$

\square

Theorem 3.26. *Let θ be a fuzzy congruence relation on L . Then $\theta_{S_{\theta}} = \theta$.*

Proof. Let $x, y \in L$. Then

$$\begin{aligned} \theta_{S_{\theta}}(x, y) &= \min\{S_{\theta}((y : x) \wedge e), S_{\theta}((x : y) \wedge e)\} \\ &= \min\{\theta(e, (y : x) \wedge e), \theta(e, (x : y) \wedge e)\} \\ &= \min\{\theta(e \wedge (x : x), (y : x) \wedge e), \theta(e \wedge (y : y), (x : y) \wedge e)\} \\ &\geq \min\{\theta(e, e), \theta(y, y), \theta(x, x), \theta(x, y)\} = \theta(x, y). \end{aligned}$$

Conversely, we have

$$\begin{aligned} \theta(x, y) &\geq \min\{\theta(x, x \vee y), \theta(x \vee y, y)\} \\ &\geq \min\{S_{\theta}((y : x) \wedge e), S_{\theta}((x : y) \wedge e)\} \\ &= \theta_{S_{\theta}}(x, y) \end{aligned}$$

\square

Theorem 3.27. *(Correspondence theorem) There is a bijection between the set of all fuzzy convex subalgebras of L and the set of all fuzzy congruence relations on L .*

Proof. Define the function ψ as follows:

$$\begin{aligned} \psi : FCon(L) &\rightarrow FSub_c(L) \\ \theta &\mapsto S_{\theta} \end{aligned}$$

Then by Theorem 3.24 and 3.26, ψ is a bijection. \square

Definition 3.28. Let θ be a fuzzy congruence relation on L and $x \in L$. Define the fuzzy set $[\theta]_x$ by $[\theta]_x(y) = \theta(x, y)$. The fuzzy set $[\theta]_x$ is called a *fuzzy congruence class* of x by θ in L .

Theorem 3.29. If S is a fuzzy convex subalgebra of L , then

- (1) $[\theta_S]_x = [\theta_S]_y$ if and only if $S((y : x) \wedge e) = S((x : y) \wedge e) = S(e)$,
- (2) $[\theta_S]_x = [\theta_S]_e$ if and only if $S(x) = S(e)$.

Proof. (1) If $[\theta_S]_x = [\theta_S]_y$, then $[\theta_S]_x(x) = [\theta_S]_y(x)$. So we have

$$S((x : x) \wedge e) = S(e) = \min\{S((y : x) \wedge e), S((x : y) \wedge e)\}.$$

It follows that $S((y : x) \wedge e) = S((x : y) \wedge e) = S(e)$.

Conversely, suppose that $S((y : x) \wedge e) = S((x : y) \wedge e) = S(e)$. By Theorem 3.6 part (3) and Theorem 2.4 part (9) and (10), we can show that

$$\begin{aligned} \min\{S((y : x) \wedge e), S((z : y) \wedge e)\} &\leq S((z : x) \wedge e), \\ \min\{S((x : y) \wedge e), S((z : x) \wedge e)\} &\leq S((z : y) \wedge e). \end{aligned}$$

By using assumption, we have

$$S((z : x) \wedge e) \leq S((z : y) \wedge e) \quad \text{and} \quad S((z : y) \wedge e) \leq S((z : x) \wedge e).$$

Therefore $S((z : x) \wedge e) = S((z : y) \wedge e)$. Similarly, we can show that $S((x : z) \wedge e) = S((y : z) \wedge e)$. Thus $[\theta_S]_x(z) = [\theta_S]_y(z)$ for all $z \in L$. Hence $[\theta_S]_x = [\theta_S]_y$.

(2) It follows from part (1) and Theorem 2.4 part(1). □

Theorem 3.30. Let S be a fuzzy convex subalgebra of L . Define

$$x \equiv_S y \quad \text{if and only if} \quad [\theta_S]_x = [\theta_S]_y.$$

Then \equiv_S is a congruence relation on L .

Proof. The proof follows from Theorem 3.17. □

Definition 3.31. Let S be a fuzzy convex subalgebra of L , θ_S be the fuzzy congruence relation induced by S . The set of all fuzzy congruence class is denoted by $\frac{L}{\theta_S}$. On this set, we define

$$\begin{aligned} [\theta_S]_x \vee [\theta_S]_y &= [\theta_S]_{x \vee y} & , & & [\theta_S]_x \wedge [\theta_S]_y &= [\theta_S]_{x \wedge y} \\ [\theta_S]_x * [\theta_S]_y &= [\theta_S]_{x * y} & , & & [\theta_S]_y : [\theta_S]_x &= [\theta_S]_{y : x}, \end{aligned}$$

for all $x, y \in L$. Then $\frac{L}{\theta_S}$ is called the *fuzzy quotient algebra* respect to the fuzzy convex subalgebra S .

Theorem 3.32. Let S be a fuzzy convex subalgebra of L . Then $\frac{L}{\theta_S} = (\frac{L}{\theta_S}, \wedge, \vee, *, :, [\theta_S]_e)$ is a commutative residuated lattice.

Proof. By Theorem 3.28, we have $[\theta_S]_x = [\theta_S]_y$ and $[\theta_S]_z = [\theta_S]_w$ if and only if $x \equiv_S y$ and $z \equiv_S w$. Since \equiv_S is the congruence relation on L by Theorem 3.28, all the above operations are well defined. It is easy to show that $(\frac{L}{\theta_S}, \wedge, \vee)$ is a lattice, $*$ is commutative, associative and has $[\theta_S]_e$ as an identity. The operation \vee defines a relation \leq on $\frac{L}{\theta_S}$ by

$$[\theta_S]_x \leq [\theta_S]_y \quad \text{if and only if} \quad [\theta_S]_{x \vee y} = [\theta_S]_y \quad \text{for all } x, y \in L.$$

This relation is a partial order on $\frac{L}{\theta_S}$. Using Theorem 3.27, we see that

$$[\theta_S]_x \leq [\theta_S]_y \quad \text{if and only if} \quad (y : x) \wedge e \in S_{S(e)} \quad \text{for all } x, y \in L \quad (1).$$

Now, we will show that $[\theta_S]_z \leq [\theta_S]_y : [\theta_S]_x$ if and only if $[\theta_S]_z * [\theta_S]_x \leq [\theta_S]_y$ for all $x, y, z \in L$. We have

$$[\theta_S]_z \leq [\theta_S]_y : [\theta_S]_x \iff [\theta_S]_z \leq [\theta_S]_{y:x} \quad \text{by Definition 3.31}$$

$$\iff ((y : x) : z) \wedge e \in S_{S(e)} \quad \text{by (1)}$$

$$\iff (y : (z * x)) \wedge e \in S_{S(e)} \quad \text{by Theorem 2.4(5)}$$

$$\iff [\theta_S]_{z*x} \leq [\theta_S]_y \quad \text{by (1)}$$

$$\iff [\theta_S]_z * [\theta_S]_x \leq [\theta_S]_y \quad \text{by Definition 3.21.}$$

This completes the proof. □

Theorem 3.33. *Let S be a fuzzy convex subalgebra of L and $\frac{L}{\theta_S}$ be the corresponding quotient algebra. Then the map $h : L \rightarrow \frac{L}{\theta_S}$ defined by $h(x) = [\theta_S]_x$ for all $x \in L$ is a surjective homomorphism and $\ker(h) = S_{S(e)}$, where $\ker(h) = \{x \in L : h(x) = [\theta_S]_e\}$. Moreover, $\frac{L}{\theta_S}$ is isomorphic to the commutative residuated lattice $\frac{L}{\equiv_S}$.*

Proof. It follows from Definition 3.31 and Theorem 3.32, that h is surjective homomorphism. Now, we show that $\ker(h) = S_{S(e)}$.

$x \in \ker(h)$ if and only if $[\theta_S]_x = h(x) = [\theta_S]_e$ if and only if $S(x) = S(e)$ (By Theorem 3.27 part (2)) if and only if $x \in S_{S(e)}$.

By part (1) and (2), $\frac{L}{\theta_S}$ is isomorphic to the commutative residuated lattice $\frac{L}{\equiv_S}$. □

4. Fuzzy Convex Subalgebras of ICRL

In this section, we consider the class of integral commutative residuated lattice. Suppose that L is an integral commutative residuated lattice.

Theorem 4.1. *Let S be a fuzzy convex subalgebra of L . For any $x, y, z \in L$, the following hold:*

- (1) if $x \leq y$, then $S(x) \leq S(y)$,
- (2) if $S(y : x) = S(1)$, then $S(x) \leq S(y)$,
- (3) $S(x * y) = \min\{S(x), S(y)\}$,
- (4) $S(x \wedge y) = \min\{S(x), S(y)\}$.

Proof. (1) If $x \leq y$, then $S(x) = S(x \wedge 1) \leq S(y \wedge 1) = S(y)$ by Theorem 3.17 part(1).

(2) It is clear by Theorem 3.17 part(2).

(3) Since S is a fuzzy subalgebra of L , we have $S(x * y) \geq \min\{S(x), S(y)\}$. On the other hand, we have $x * y \leq x, y$ by Theorem 2.8 part(2). Hence $S(x * y) \leq S(x), S(y)$ by part (1). Thus $S(x * y) \leq \min\{S(x), S(y)\}$.

(4) The proof is similar to the part (3). □

Definition 4.2. Let f be a fuzzy set of L . f is called a *fuzzy filter* of L iff
 (fF1) $f(1) \geq f(x)$,
 (fF2) $f(y) \geq \min\{f(x), f(y : x)\}$,
 for all $x, y \in L$.

Theorem 4.3. A fuzzy set f of L is a fuzzy filter iff
 (fF1') if $x \leq y$, then $f(x) \leq f(y)$,
 (fF2') $\min\{f(x), f(y)\} \leq f(x * y)$,
 for all $x, y \in L$.

Proof. See ([14]). □

Example 4.4. Let $L = \{0, a, d, 1\}$ with $0 < a, d < 1$ and elements a, d are incomparable. We define

*	0	a	d	1
0	0	0	0	0
a	0	a	0	a
d	0	0	d	d
1	0	a	d	1

:	0	a	d	1
0	1	1	1	1
a	d	1	d	1
d	a	a	1	1
1	0	a	d	1

and so L is an integral commutative residuated lattice. Define fuzzy set f_1 in L by $f_1(0) = f_1(a) = x$, $f_1(d) = y$ and $f_1(1) = z$ where $0 \leq x \leq y \leq z \leq 1$. Also, define fuzzy set f_2 in L by $f_2(0) = f_2(d) = t$, $f_2(a) = s$ and $f_2(1) = w$ where $0 \leq t \leq s \leq w \leq 1$. It is easy to show that f_1 and f_2 are fuzzy filters of L .

Theorem 4.5. Let S be a fuzzy set of L . S is a fuzzy convex subalgebra of L iff S is a fuzzy filter of L .

Proof. Let S be a fuzzy convex subalgebra of L . Then

- (1) if $x \leq y$, then $S(x) \leq S(y)$,
 - (2) $S(x * y) = \min\{S(x), S(y)\}$,
- by Theorem 5.1 part(1) and (3). Hence S is a fuzzy filter of L by Theorem 5.3.

Conversely, let S be a fuzzy filter of L . First, we show that S is a fuzzy subalgebra of L .

- (1) $S(1) \geq S(x)$, by (fF1),
- (2) $S(y : x) \geq S(y) \geq \min\{S(x), S(y)\}$, by Theorem 2.8 part(4) and (fF1'),
- (3) $S(x * y) \geq \min\{S(x), S(y)\}$, by (fF2'),
- (4) $S(x \wedge y) \geq S(x * (y : x)) \geq \min\{S(x), S(y)\}$ by Theorem 2.8 part(4) and (fF1'),
- (5) $S(x \vee y) \geq \min\{S(x), S(y)\}$, by (fF1').

for all $x, y \in L$. Now, we show that S is a fuzzy convex subalgebra of L . Suppose that $a \in S_\alpha$, $b \in S_\beta$ and $a \leq c \leq b$. Then

$$\min\{\alpha, \beta\} \leq \min\{S(a), S(b)\} \leq S(b * (a : b)) \leq S(b * (c : b)) \leq S(c).$$

Define $\gamma = \min\{\alpha, \beta\}$. Hence there exists a γ between α and β such that $c \in S_\gamma$. □

REFERENCES

- [1] T. S. Blyth and M. F. Janovitz, *Residuation theory*, Perogamon Press, 1972.
- [2] K. Blount and C. Tsinakies, *The structure of residuated lattices*, Internat. J. Algebra Comput., **13(4)** (2003), 437-461.
- [3] P. S. Das, *Fuzzy groups and level subgroups*, Math. Anal. Appl., **84** (1981), 264-269.
- [4] R. P. Dilworth, *Non-commutative residuated lattices*, Trans. Amer. Math. Soc., (1939), 426-444.
- [5] J. Hart, L. Rafter and C. Tsinakis, *The structure of commutative residuated lattices*, Internat. J. Algebra Comput., **12(4)** (2002), 509-524.
- [6] A. Hasankhani and A. Saadat, *Some quotients on BCK-algebra generated by a fuzzy set*, Iranian Journal of Fuzzy Systems, **1(2)** (2004), 33-43.
- [7] K. Hur, S. Y. Jang and H. W. Kang, *Some intuitionistic fuzzy congruences*, Iranian Journal of Fuzzy Systems, **3(1)** (2006), 45-57.
- [8] A. Iorgulescu, *Classes of BCK algebras-part III*, Preprint Series of the Institute of Mathematics of the Romanian Academy, preprint, **3** (2004), 1-37.
- [9] T. Kowalski and H. Ono, *Residuated lattices: an algebraic glimpse at logic without contraction*, Japan Advanced Insitute of Science and Technology, 2001.
- [10] L. Lianzhen and L. Kaitai, *Fuzzy filters of BL- algebras*, Information Sciences, **173** (2005), 141-154.
- [11] V. Murali, *Fuzzy equivalence relations*, Fuzzy Sets and Systems, **30** (1989), 155-163.
- [12] E. Turunen, *Mathematics behind fuzzy logic*, Physica-Verlag, 1999.
- [13] M. Ward, *Residuated distributive lattices*, Duke Math. J., (1940), 641-651.
- [14] M. Ward and R. P. Dilworth, *Residuated lattices*, Trans. Amer. Math. Soc., (1939), 335-354.
- [15] L. A. Zadeh, *Fuzzy sets*, Information and Control ,(1965), 338-353.
- [16] J. L. Zhang, *Fuzzy filters of the residuated lattices*, New Math. Nat. Comput., **2(1)** (2006), 11-28.

SHOKOOFEH GHORBANI, DEPARTMENT OF MATHEMATICS OF BAM, SHAHID BAHONAR UNIVERSITY OF KERMAN, KERMAN, IRAN

E-mail address: sh.ghorbani@mail.uk.ac.ir

ABBAS HASANKHANI*, DEPARTMENT OF MATHEMATICS, SHAHID BAHONAR UNIVERSITY OF KERMAN, KERMAN, IRAN

E-mail address: abhasan@mail.uk.ac.ir

*CORRESPONDING AUTHOR